$402/ 0

HESY

:oedeinignd ep ereq

AP

(eameuisse @ swou) :a3uapisaid g

:(seA1309.1103 sepipaw @ sesned) dA sop oquawrdwinouy ap sagienys sep ogjenSuane e eAljejas Jejuawaldwod ogiewopu;

./

SO[SUI0] :SEPE|0J1U0D 0JUSWIIISEqE 3P SEUOZ :T VLON

E€T0T IHLSINIYL o€

VEE 5°U Tviidl

‘eajjqnd apad ep enBe ep spepjjenb ep og5eol)ian g as-nepadoad ‘oisole 9P [T 3P ‘L00Z/90€ 5°U 197-012133Q O W) 3pEpPIWIOUOT WY

OYINO9VYN3id 30 VIHVIN YINVS 3d OHTIONO2 Od OLNIWIDILSYEY 30 SYNOZ SYN

ONYINNH OWNSNOD Ydvd YNSY va 3avanvno v O104LNOD

%001 T 1 5001 0 800> | 800> 00 [(/3)eupemnagiay
%001 T T %001 0 800> | 800> 010 1/31) oganup)
%00T 1 T %001 0 800> 800> 0L'0 (1/31) opinig
%00T T B %00T 0 80°0> 80°0> 010 (1/21) eujzeiangiaypasag
%00T 1 T %007 0 800> | 800> 010 (1/21) euizensejpasaq
%00T 1 T %00T 0 800> | 800> 010 1/21) euizeny
%00T T T %00T 0 800> 80'0> 050 {1/31) |eso3 — sepppsag
%00T T T - 0'L> 0L> —- (1/3)ouejawolopowo.q)qg
%00T T T = 0'L> 0'L> - 1/3)ouerawolodpowiosg I
%00T T ; - 0'L> 0'L> - (1/81)ojwiigiowioag
%00T T T = 0'L> 0'L> o {1/8)ojunigjos0p)

= 0 0'L> 0'L> 00l :(1/31) je301 - souelawoleyp]
%00T T T = 0T0'0> 010> — I/3)oualjd(po-£‘z*T)ouapu)
%001 T I S00'0> | s00'0> == |(7/21} ous)piad(jyS)ozuag
%00T T T 0S00°0> | 0$00°0> i (1/2v) ouazuesony{yjozuag
%007 1 1 = 0500°0> | 0500°0> — (1/21) ouaiwesony(q)ozuag

it = 0 SzZ0'0> 700> oLo :(1/3) soa1ppi0g SO0J[1pWIOIY SO32UOGIEI0IP]H
%00T | [ = ST> ST> - (1/3)ouaaoiopia)
%007 T T == ST> ST> - (1/8)ouazaocsopenyay

._w == 0 G'T> S'1I> (]} :(3/31) OUJI0IOJJ] 3 OLUIII0I0PRYD h_,.
%00T T I %001 0 or> or> 052 (*0s 1/3w) sojeying
%007 T T %007 0 VLY vy 00Z (eN 1/3w) oipos
%00T I T %00T 0 or> oT> 052 (12 1/3w) sojaiop
%00T T T %00T 0 9> 9> 0L (35 1/211) ojupjes
%00T T T %00T 0 9> 9> 0zZ {IN 1/3v) janbyy
%001 1 T %00T 0 50> 50> | (8 1/81) ounaisly
%00T T T - [1T 11T - (BN 1/3w) ojspuTery
%007 T 1 %00T 0 ot'o> 010> G'l (4 1/3w) sojasonyy
%00T I 1 %00T 0 0 0 0 (1w 00T/N) s03020.433u3
%00T T T - 962 967 - (£03eD 1/3w) €303 ez31nG
%00T 3 ¥ %00T 0 60> 6'0> 0'¢ {1/31) oueaosopip - 7't
%007 T T %001 0 > 5> 0S (33 1/3) ojwiga;
%00T T T %001 0 €0-30'7> | €0-30'2> 0'z {n37/3w) aaqoy
%00T T T %00T 0 0z> 0z> 0§ (ND 1/81) soyauer)
%007 T T %00T 0 L> £> S¢ {(ad 1/8) oquinys}
%00T T T e L6 L'6 - (e21/3w) cpjea
%00T T T %007 0 0> Q1> 0'g (P2 1/34) ojwpey
%00T T 1 %00T 0 > q> oL (foug 1/8) sojewolg|
9%00T 1 1 %001 0 o1'o> | or’o> 0'} {8 1/3w) oso0g|
%001 I T %00T 0 0500°0> | 0S00'0> 0100 (1/3) ouaud(ejozuag
%00T T T %001 0 £0> £0> 0t (1/8v) ouazuag
%001 T I %00T 0 L L ol {sv 1/34) ojugsuy
%00t 1 1 %007 0 > 7> 5 {95 1/31) ojuowipuy
%001 T T %00T 0 01> 0'T> 4 {(NLN) ogieany
%00T T I %00T 0 > > g (0g3n|jp ap Jo1ded) D557 € Joges
%00T T T %00T 0 > > £ {og3Inyip ap Jo13ed) D557 € 0413Y)
%00T 1 T %00T 0 0'T> 01> g (0 1/8w) apepyiqepxo)
%00T 1 T %001 0 S0'0> S0'0> G0 (*ON 7/3w) soyuun
%00T 1 T %00T 0 o'e> 0'e> 0g (ON 1/3w) sojesyy
%00T T T %00T 0 0> 0> 05 (U 1/31) spueBuepy
%0017 T T %00T 0 09> 09> 002 (34 1/3) os1a4
%00T T T %00T 0 L9 L'9 658 6'92 {Hd sapepiun) pd
%00T T T %00T 0 0e< 0'e> 0z (021d 1/3w) 403
%00T I I %00T 0 0 0 0 {(lwooT/N) suabuyifiad winjpiisoly
%00T T 1 %00T 0 99 99 0052 {2507 e wo/sr) apepiapnpuor
%00T T T - 0 0 [ewloue ogdela)e Wwog (Iw/N) 35 L€ € se|ug|02 3p osawny
%001 I I --- 0 0 fellioue ogders)e wag {(Jw/N) D5 ZZ e sejug|od ap osawny
%001 1 T %001 0 Soo0‘0> | SO0‘0> 05'0 (*HN 1/3w) ojugwiy
%001 T T %001 0 69 69 002 (v 1/3") opustuny
%00T [4 z 160 £8°0 == {1/3w) |enpisaa ajuerayuisag|
%00T 4 4 %00T 0 0 0 0 (i OO T/N) setusogjoo sepgpeg|
%001 [4 [4 %001 0 0 0 0 (lw 00T/N) 1102 DiyIIaYIST

S P e dhOoP | dn sedomadns | SwmEW t. oW | 400z/90€ 1a ou opexy
© Sas(|euy i (sapepiun) onnawgaed
% ?ﬁu d) Susiieuy 5'N ojuawpdwin) % sasieuy 5°N SOPRYO sa10(eA (dA) osnpwesed sopep
0.quWia1as p§ ‘(4vsy3) 9uaiadwod apeppone ejad
e oynf o openoJde (vDJd) ensy ep apepyjenp ep ojosuo) ap ewesdoid o opungas ‘Jop|wnsuo) op BJJaUI0) BU sedjpolIad sasijeue ap spaede

oeindeudd ap euey ejues ap oididjunpy

bty
ognBeusd sp epew yues

—
——
T




FZ/ollSr

‘0p mp_u_“o_zn ep ejeq

(eanjeuisse a awou) @juapisasd ¢

N

}(sen3aa.4400 sepipaw a SESNed) dA sop ojuswiadwinouy ap sapsenyis sep ogdenSuane € BAlE]a) Jejuawajdiuod oeseuio

0Jjalieg :sepejc.iuod oJUBWIIAISEQE 3P SBUOZ T VLOM

€T0Z JHLSINIYL 5€

g€€ 5°U TV1Ia3

‘e2)|qnd 8pai ep ende ep apepijenb ep ogSeaylaa ¢ 8s-napadoud ‘ojsode ap £z ap ‘£00Z/90€ 5'u 191-033493Q O WO 9pEP|WIOU0I W3

0L'0 2ejinqla)
0L'0 1/31) oganup
010 [(1734) oginig
0L'0 (1/31) eujzejinqiaypasag
0L'0 (1/31) euzeneyyasag
0L'0 1/21) eujzeny
05'0 (1/31) [e303 — seppjisag
= —- ﬂ._\uéo:maoEo._o_uoEoB_o
- — (1/2)oueiswiolopipoworg
= (1/3)ojw.igjouwroig
= i = (1/2)ojwigsoi0p
00L (/) |eyoy - souejawoleydj
- ~= 1/3)ous.d(pa-¢‘7°T)ouapy
— 1/87) ousjuad{|yB)ozuag
— — (1/21) ousiteiony(y)ozuag
- — {1/21) ousueiony(q)ozusg
0L'0 {1/81) sooyp13y10d soopewoy $0J3U0qIE304pIH
- ('1/3)ouazacsoppy
= — (1/3v)oumraciopesia)
0l :(1/811) ouazaouoppiy 2 ouajaoiopena
0s¢ (*0S 1/8w) soyeyng
00T (eN 1/3w) ojpys
052 (13 1/3w) soyas01)
0l (35 1/3") ojuzjas
0z (IN 1/31} janbiy
. L (3H 1/31) ooty
— (8N 1/8w) ojspugeny
G'L {41/3w) sozaion|g
Q (1w 00T/N) so2030J23u3
= = (€02©2 1/3w) |e301 ezaung
0'e (1/81) ouejeciopip - z'7
05 (43 1/21) ojwory
0z {n27/3w) 21907
08 (N2 1/81) sojauery
Sz (9d 1/2r) oquiny)
= (e 1/3w) opjeg
0's (P2 1/31) ojuipey
ol (€049 1/81) sorewoug
0'} (9 1/3w) ciog
0100 (1/21) ouaxd{e)ozung
o'} (1/27) ouszuag
oL {sv 1/31) ojupsuy

g 195 1/31) ojuownuy

%00T T T %00T 0 0'T> 0'T> 4 (NLN) og3eniny
%00T T 1 %00T 0 > > B £ (og3tnip ap Jopey) 3357 e Joges
%00T T 1 %00T 0 > > £ (og5inj1p ap J01de3) 2557 & OafBLY
%00T T [ %00T 0 ¥'1 A S (0 1/3w) apepiiqepixq
g0 (*oN 1/3w) soyaypy!

%00T 1 T %00T 0'e> 0'€> 0§ (*ON 1/3w) sojesun

%00T T T %00T 0 0'z> 0'z> 0 (U 1/2) spuesuely|

002 (a4 1/3v) owsay

%00T I T %00T L' L'9 659 6'g2 {Hd sapepjun) Hd
%00T T T %00T 0'e> 0'e> 114 {003 1/8w) 403
0 {(1Wo0tT/N) suaBupifiad wnpiisopy

%00T T T %00T 0 0s 0s 0082 (250Z e wa/srl) spepjannpuoy
%007 T T - 5 S [euLoUe OBSBIS)E WSS (/N) 35 L€ e sejugjod ap osawiny
%00T T T e I 114 [euLioue ogSess)ie wag {1u/N) 25 ZZ € sejugjod ap osswny
%00T T T %00T 0 so‘o> S0‘0> 0s'0 ("HN 1/3w) ouowy
00Z {iv 1/31) ojujwnjy

5001 z z = 510 | oto> — (3/8w) jenpjsas aauerajuisaq
%00T Z Z %00T 0 0 0 0 (Iw 00T/N) sew.i0y|03 seuzpey
%00T 4 4 %00T 0 0 0 0 (1w 0OT/N) j103 DiydIaydsy

sepeziay ...m._.in_._m,,vm Mﬁm“ﬂmﬂu dA op dA salopadns oE_Mm._Na oE_ca_,_w_‘_ £00Z/90€ 1Q ou opexy
sas|jeuy (sapepjun} onyawesey
% ?du & sasiguy 3N ojuswpdwn) gl sasjeuy 3'N 50PIQO SAIO[EN (dA) ootpwerey Jojep
0IGWIIAS OE "(4VSH3) auajadwod apepuone ejad
e oyY[h[r 1o opeaosde (yDId) en8y ep apepjjend ep ojonuo) 3p eweifolid o opunSas JopJuINsUOI Op eljaUI0} BU sedipoiiad sesjjeue ap saaedje

OYINSYN3d 30 VANVIN VANYS 30 OHI1IINOD Od (OLNINWIILSYEY 30 SYNOZ SYN

ONVWNH OWNSNOD YYvd YNDY YA 3avanvnd va 0104.LNOD

ogindeuad ap mtms_\mmcmm ap ordpjuny
n.nn..an..f._ 20 lEw ETUR

——
-‘I.
—




coz/ el S7

‘ogdeinignd ep ejeq

7M™

{eamjewisse a swou) :ajuapisaid ¢

/ _

!(seannds.u09 sepjpaw o Sesnes) dA sop ojuawsdwinau) ap sagienys sep ogiendiiane € BAllejaJ sejuawajdwos oeSewaoyu|

5leyjeAle) :sepejosjuod Oluaelseqe op seuoz ‘T VLON

“0l0 (i/8meuzelangial
010 (1/2x) oginuny
010 (1/3") opanig
oL'o (1/3) BUjZE|13NqI}IISI]
010 (1/21) euzeejesag
010 (1/3") euzeny
05°0 {(1/21) |10} — seppnsag
- - 1/2v)ouelawosopowolqig I
_ == == {1/8)ouerawosopipowong
= |(1/2r)ojwigjowoug |
- _[i/#M)ojwig0ian
001 :(1/21) je303 - souesawoeypL
= (1/2r)ouauid{po-¢'z'T)ouapu;
- — #..HW:J ouajad(jyS)ozuag
== = 1/81) ouayuesonyy(y)ozuag
= — [(1/2) oumueionp(q)ozuag
oi‘o i(1/27) sooyp)o)j0d soopewoly $0313U0qILe04pIjH
- (1/B)oumaciopii
=== - [1/3f)oumyaciopena)

0l {(1/3) oumaociopir) 8 ouaj3010pdeNI |
0se (*0s 1/8w) soreyng
0o0e {eN 1/3w) ojpos
05¢ (12 1/3w) sozauopp

Ok (3s 1/2v) ojugjas

0z (IN 1/31) janbiN

! (2H 1/31) ounoaty
= & (3N 1/3w) orspudey

g'l (11/3w) so3az0njg

o} (1w poT/N) $03020.433ju3

- - (0282 1/3w) |e303 EZAuNg|

0'c (1/3) oueaouopp -zt

0S {43 1/3) ojwigsy

0'C (n] 1/8w) a1q0)
08 (ND 1/31) sojauer)

sz (9d 1/31) oquiny)
= - {22 1/3wi) opied

0's (P2 1/3n) ojwpg)
ol (®04g 1/31) sojewioug
0'L (81/3w) o109

010'0 (1/81) ouasid{e)ozuag
0'L (1/81) ouszuag
oL (sv 1/31) ojugsay
— - g {ag 1/31) ojuownuy
%007 1 1 %00T 0 01> 01> ¥ {NLN) ogSeainy
%00T T T %001 0 > > € (0g31ny1p ap 10)de) 2557 € J0qes
%00T T T %00T 0 1> T> £ (oe3inyp ap Jorded) D35z € 0aj3yy
%00T T 1 %00T 0 0'T> 01> g (*0 1/3w) apepijiqepixo
g0 {*ON 1/3w) soyaun
%00T T T %00T 0 T'TT 11T 0S (*oN 1/8w) sojesyn
%00T T T %00T 0 0'z> 0> 0S (uw 1/21) saueSuewy
00z (a4 1/3v) onaay
%00T 3 T %00T 0 59 59 659 §'g= {Hd sapepjun) Hd
%0071 1 T %00T 0 0'e> 0'e> 0T {001d 1/3w) 10D
0 (WWQOT/N) suabujsfsad wnprijsol)
%00T 1 1 %00T 0 002 002 0052 (3302 & wa/sMl) apepiapnpuc)
%00T T T 0 0 |EULIOUE oESBIS)je WSS (1u/N) 25 L€ e sejugjod ap osawny
%00T T T P 0 0 [ewloue ogdels)e weg (lw/N) D5 27 € seiugjod ap osauiny
%00T T T %00T 0 S0'0> S0°0> 05'0 {*HN 7/3w) ojuowy
. 002 (iv 1/21) ojujwnyy
%00T z [4 = Z2'T €6°0 - (1/8w) Jenpisas ajuelazuIsag
%00T [ Z %00T 0 0 0 0 {lw 30T/N) saunoy)|0d seugdeg
%00T A %00T . 0 T - 0 (1w 001/N) j100 DIyariayIs3
n”””_u__q_”z SIS | enpyy SA0R dAsatopadns | THREW | OWIW | £00z/90€ 10 ou opexy (sapepjun) onsweseqd
% ?_du d) sesijpuy 5N ojuawpdwny .x__ sasji|euy s'N SOPIGO S3I0(EA (dA) ooupwiesey Jojep
0Jquia19s 0§ *(4vsH3) s1usladwiod apeppone ejad
e oy|nf 1o opeAo.de (yDId) enBy ep apepj|enDd ep 0jo.3u0) 8p ewesfold o opundas ‘Jop|WNsuol op elj3uIo} eu sea|polad Sas|eue ap spABIIe

€107 IULSINIYL €

A

st

JEE U TVlia3

‘e2j|qnd apaJ ep ensg ep apep|jenb ep o

Eoe1149A  9s-napadoid ‘o3so8e ap £z ap ‘L00Z/90E 5°U [37-039103( O W0d 3pEP|WIOJU0) W3

PRI

OYINSVYN3d 30 VL4V YINVS 30 OH1IINOD O (OLNIWIDILSVYEY 3d SYNOZ SYN

ONVINNH OINSNOD YiVYd YNDY vYa 3avanvno vd O104LNOD

ogindeuad ap eueln ejues ap oiddunpy

—
——
——

—




o7 /05 [ST

‘oejejnijgnd ep ereq

MO

{eanjeussse a awou) uapisaud g

L/

{(seal3234100 sepipaw a sesned) gp sop ojuawidwnouj ap sagsenys sep ogSensuane e BAlle]aJ Jejuawa)dwiod ogseunoyuy)

0]|3}1nos sepe|osuod ojluawialseqe 9P SBUOZ :T VI1ON

%007 T T %007 0 800> | 800> 0ro (1/2) ¢ eppopisog
%00T T T %00T 0 800> | 800> 0,0 {1/21) € eppnsad
%007 T T %00T 0 800> 800> 0L'0 1/31) Z ep|apsad
%00T T T %00T 0 80'0> 800> 0L'0 1/21) T eppnsag
%00T T T %00T 0 800> 800> 050 (1/31) |e303 — sepppsag
%00T T T == 0'L> 0'L> — (1/2v)oueswoiopowoiqrg
%00T T I 0'¢> 0'L> - ('1/8r)ouerawoloppowicig
%00T 1 T ' 0't> 0'L> - (1/3)o1wipjowong
%00T T T = ov or — {y/3)ojuigsosop)

= o %001 0 or or 00t :(1/3} [e107 - soueiawoeypy
%00T 1 T -= 010'0> | oto'o> — 1/@jouaid{pa-g'zT)ouspu
%00T 1 1 - S00°0> | s00‘0> - (1/3) ous|pad(yd)ozuag
%001 T T = 0S000> | 0500'0> — (1/21) ouayuesonp(yjozuag
%00T 1 I - 0S00°0> | 0500°0> - |(3/8v) ouasueionp(q)ozueg

= = %00T 0 SZ0'0> szo'o> 0L'0 :(1/2) sooydpa)104 $0J11¢W0Jy 5018u0q.er04pIH
%00T T T - S'T> ST> — (1/3)ouazaciopu]
%00T T 1 == S1> &' — (1/#)oumaciopena)

— — %00T 0 g1T> ST> ol {(1/2)) oua3130103)1 @ ousIEIOpPERD]]
%001 T T %001 0 oT> ot> 0se (*0S 1/3w) soreyng
%007 T T %00T 0 £9¢ £9¢ 002 (eN 1/3w) oipgs
%00T 1 1 %001 0 01> 01> (1]414 (12 1/3w) soyasop)
%00T T T %00T 0 9> 9> 0l (35 /1) ojugjes
%007 T T %00T 0 9> 9> 0¢ {(IN 1/2vi) janbyn|
%001 T 1 %001 0 50> 50> ! {81 1/31) opnaasary
%001 T I === = av'o 90 = (2 1/3w) o1spuey
%00T T T %00T 0 0T'0> ot'o> o (4 1/3w) soras0niy
%00T T T %00T 0 o 0 0 (1w poT/N) $02030J83u3
%00T g T €LT €41 — {(€00®D 1/3w} €303 ezaing
%00T T T %00T 0 6'0> 60> 0'c {(1/81) ouersciopip ~ z°¢
%00T T T %00T 0 6> g> 0g (13 1/21) ojwou3
%00T T T %007 0 £0-30'2> | £0-30'T> 0T (n2 1/8w) aiqo)
%00T T T %001 0 0z> 0z> 0s {ND 1/31) sorauer)
%00T T T %00T 0 > > 5z (qd 1/31) oquinyy
%00T i T s £ £y - (€2 1/3w) o)3jey
%00T T I %00T 0 01> 01> 0's (P2 1/31) oywipe)
%007 T T %00T 0 s> q> ol (t04g 1/8) sozewoug
%00T 1 I %00T 0 otT'o> 010> 0} (g 1/3w) ciog
%00T T ] %00T 0 0S00°0> | 0s00'0> 0L0'0 {1/21) ouasrd(e)ozuag|
%00T 1 1 %00T 0 £0> €0> o'} {1/3) ouszuag
%00T T T %00T 0 5> 5> ol (sv 1/81) ojugsiy
%007 T 1 %00T 0 > > 5 {95 1/31) ojugwinuy
%001 T T %00T 0 01> 01> 4 (NLN) ogSeain)
%00T T ¥ %00T 0 > > € (og31n)1p ap Jopded) 3557 e oges
%00T T 1 %00T 0 > > € (og3in)p ap Jo1de4) I55Z € 0ljy)
%001 I I %00T 0 01> 01> G (*0 1/3w) apepiiqepixo
%00T 1 T %00T 0 S0'0> S0‘0> 5'0 (*ON 1/3w) soyuun
%00T L 1 %00T 0 0'e> 0'e> 0s (*oN 1/3w) sojesyy
%00T T T %00T 0 0'z> 0'z> 0S (uw 7/31) spueSuepy
%00T T T %00T 0 T0+3009 | TO+300°9 002 (24 1/231) o114
%001 I T %00T 0 €4 €L 659 §'g=2 {Hd sapepjun) Hd
%007 T 1 %001 0 0'e< 0'e> 0z (0034 1/3w) 103
%00T T T %00T 0 0 0 0 (lwo0T/N) suabuyifiad wnypuisor)
%001 I T %001 0 Sp> Sp> 00SZ (3302 e wd/stl) apepiapnpuoy
%00T T T == = 0 0 | [ewloue ogdels)e wasg {lw/N)} D5 L€ e sejupjod ap oJawny
%00T T 1 o 14 [4 - leudoue ogdeiaje Wag (1w/N) 25 ZZ € sejugjod ap olawny
%00T T T %00T 0 S0°0> 50°0> 0S'0 ("HN 1/3w) ojuoury
%001 1 T %00T 0 44 L 00¢ (Iv 1/31) ojujwinjy
%001 [4 L SOT 060 = {1/3w} jenpisa: ajueayuiseq
%00T [4 [4 %00T 0 0 0 0 {1w 0OT/N) sewioy| 03 sepgpeg
%00T L 4 N; %00T 0 0 . 0 D | {lw 00T/N) 1102 DIYILI2Y3sT

,m”wm..._u_w_““x SR et Rpep B2y Sl gAsaiokigdns ﬂ.ﬂ:_st_ oW | zooz/s0€ va ou opexy (sapepjun) onyawgaieq
% (V0Dd) sasiiguy &'N _BcwE_aE:u %) Sasieuy z'N SOPRGO SSI0IEA (dA) ooLpwesey Jojep
0qWa1as g€ "(YvSy3) s3uazadwos apepuoine ejed
B Oy|nr o opeaosde (yD2d) endy ep apepjjenDd ep ojosuo) ap ewesdosd o opundas ‘Jop|uwINSUOd Op BBUIOY BU seolpolad sasjjpue 3p spaese

€10 JYLSINIYL o€

201908 2p2d ep ende ep Speplienb ep ogd

o S Er5 e Sl 8 AR

PRETTH

aeg s’y

Tvlia3

OYINDVN3d 30 V14VIA YINVS 30 OH1IINOD 0Od ;OLNINIDILSYEY 30 SYNOZ SYN
ONYWNMH OWNSNOD YiVd YNODY Ya 3avanvnd vd O108LNOD

ed}|19A ¢ 85-napado.d ‘oisode ap £z 3p ‘£00Z/9I0E 5°U 197-0)9133Q O WO 3pep|Wwiojuod w3

oeinSeuad ap eyel ejues ap ojdidjuniy

P R
ogmbeuad 3p epew sjues

—
—
—
—




7 SN& [/ SY /} ~J /
‘ogiengnd ep ejeg (ednjeuisse 2 awou) :9juapisald ¢
=~ .
:(seA3oai09 sepipaw @ sesned) daA sop ojuawpdwnouy 2p sagienyis sep ogSensuiane € BAljejas Jejuawaldwod ogSewiopu
SEJlg 313§ SepejoJjuod O..—:&F__umu_.mmn_m 9P SBUOZ T Y.LOM
%00T T I %001 0 800> 80°0> 0L‘0 (1/31) v epiisag
%001 T T %001 0 80°0> 800> 0L'0 (1/81) € epropsayg
%001 T T %007 0 800> | 800> 0L'0 {1/3") z eppnseg
%00T T T %00T 0 80°0> 800> 0L'0 (1/20) 1 epopsaq
%00T 3 T %00T 0 800> 80°0> 05'0 (1/31) (e301 — seppysay
%001 I T - 0'L> 0'L> - (1/3)ouejaworopoloiqig
%001 T T == o'L> o'L> — (1/31)ouelawoiopipowoag
%001 T '3 - 0'L> 0'L> — (1/3)ojuigjowong
%00T 1 T - 0'L> 0> — {i/8r)ojwigsoiop
= %00T 0 0> 0'L> 00l :(1/21) |e301 - soueyawojeyl]
%001 T T - 0T00> 0T00> — :\w&oco.__n?u.m.n.do:uv:_
%00T T T = S000> | S00'0> —- (1/3n) ouajuad(iyF)ozuag
%00T T T 0S00°0> | 0S00°0> = (1/2) ouasue.ony(yjozuag
%007 T T - 0S00°0> | 0500°0> - [(1/31} oumuesony{qjozuag
= — %001 0 gZ0'0> SZ00> 0L0 {(1/24) sooyapo1j04 S02)1pwoly SO13U0GJEI0IPIH
%001 T T — ST> ST> — [(1/3)ouaraciopyiy
%00T T T - ST> ST> — (1/2)ouszaciopenay
- = %00T 0 S'T> ST> ol :(1/31) ouma0s0]p] @ Guareciopena)
%001 T T %00T 0 or> 01> 0se (*0s 1/3w) soreyyng
%00T T T %00T 0 16's 16°s 002 (eN 1/3w) o1pos
%00T T T %00T 0 or> 01> 05z (12 1/8w) soyaropy
%00T T T %001 0 9> 9> i (25 1/34) opupjas
%001 1 1 %001 0 9> 9> 0z (N 1/81) janbi]
%00T T 1 %001 0 50> 50> | {81 1/3) ounasey
%001 T T — £€°0 ££°0 — (3 1/2w) ojspuden
%00T T T ' %00T 0 010> 01°0> g'l (4 1/3w) so3suonjy
%001 I T ; %001 0 0 0 0 (1w 00T/N) s03030123u3
%00T T T = £'6T €'6T — (€02e3 1/3w) [e303 e20ang
%001 I 1 %00T 0 6'0> 60> 0'c (1/3) ouersoiopip - 77
%00T T T %00T 0 6> 5> 05 (40 1/31) opwigu)
%007 T T %001 0 €0-30'z> | €0-302> 0C (n2 1/8w) a1q03
%001 1 T %00T 0 oz> o0z> 05 (ND 1/3M) soyauery
%001 T T %00T 0 /> /> 5z (9d 1/31) oquiny)
%007 T I - z z - (3 1/8w) opigy
%001 T T %00T 0 07> 0T> 0'g {P2 1/3) ojwipg)
%600T 1 1 %00T 0 o> 9> oL (€044 1/81) sojewoug
%00T T T %00T 0 010> o1'0> 0't {9 1/3w) osog
%001 T T %001 0 0500'0> | 0S00'0> 0L0'0 (1/3") ouauid{e)ozusg
%00T 1 T %00T 0 £0> £0> 0') (1/3") ouazuag
%00T T T %001 0 S> 6> 0l (sv 1/21) ojugsiy
9%00T T T %001 0 > > g {as 1/31) ojugwpuy
%00T g 2 %001 0 01> 0'T> 14 {NLN) ogdeainy
%00T T I %001 0 > > £ (og3in)|p ap Joped) I55Z € Joqes
%00T T T %00T 0 > > £ (og3in)ip ap so1de4) I557 € 0JjaY)
%001 T T %00T 0 01> 0'T> g (*0 1/8w) apepyigepixp
%00T 1 T %00T 0 500> 500> 5'0 (ON 1/8w) souIN
%007 1 T %00T 0 0'e> 0'e> 0s (foN 1/3w) soyesyn
%00T T T %00T 0 0Z> 0'z> 0% (uw 7/81) spueSueyy
%00T T T %00T 0 09> 09> 002 (34 1/2v) ouua4
%00T I T %00T 0 €L €L 659 6'92 (Hd sapepjun) Hd
%00T T T %00T 0 0'e< o'e> 0z {003d 1/3w) 103
%00T T T %00T 0 0 0 0 {(IW00T/N) suabupifiad wnipriysory
%001 T 1 %001 0 5S> S> 0052 (2207 e wa/sm) apepjapnpuo)
%00T 1 T — - 0 0 [ewoue ogsela)e wag (iw/N) 25 LE & sejug|od ap csawny
%00T T T == 0 0 [ewioue ogdelale wag (1w/N) 35 ZZ e sejugioa ap osswnpy
%00T T T %00T 0 500> S00> 0S'0 (*HN 1/3w) oluguiy
%00T T T %001 0 1z {14 002 {1y 1/2) ouswnyy
%001 z 4 £8°0 040 = {1/3w) jenpisaJ ajuernjulsaqg
%00T z 4 %00T 0 0 0 0 (I 00T/N) sawoy)0d sepgeg
%00T z z %00T 0 0 0 0 {Iw 001/N) 102 myysriayas3
SRRy | opeziieon | sepepusty| | an op | 4nsesopadns | owmew | ow | 1002/60¢ 70 ou opexss
sasjjeuy ] : oren (sapepjun) osjawgueg
i (vDOd) 5351/E0Y 5'N _EEE_EEB %| SOSUSUY SN | sopngosasoen | (dA) 03uipwesed so)
04qQuWIa1as 0L "(4YSH3) ajuajadwod apeppone ejad
e oy|nfr 1o opeaoude (yDDd) endy ep apepj|enD ep 0jos3u0) 3p ewesoid o Opun3as ‘Jop|WNSU0) Op B1J3UI0) U SeI|pojIad sasjjeue ap spAaese
EI0Z 3ulS3NLs€ | "Ealiqnd 9pad ep ende ep apep)ienb ep ogSeayian g as-napadoud ‘o3sole ap (7 5P '£002/90€ 5'U 131-0324930 © W02 apep|uIIoju0d w3
i e i i o o e X ST EETSEAR BaaOTE O LT 9P 007 T T
. OYINSVYN3id 30 VI¥VYIN YINVS 3d OH13DNOD Od ;OLNINWIDILSVYEY 3G SYNOZ SYN S e o
€€ 5’V Tv.LIaT ONVYIANH OWNSNOD Ydvd VN9Y vad 3avanvno va O1041NOD -....I.....lll....ur.r




89/ 0l [z N
:ogdeyiqnd ep ejeq /\./\./ﬁv%) (ednjeursse a awou) :ajuapisoxd ¢
(Sv ep 1ada.ed ap epugsne) apnes e eed oasu 13AeY oeu 10d sepipaw sepewoy Em@ OEN - TN :SBAI}I3.10) SEPIPSIA ‘ende op wadiio ep (sedjSoj0aS0.piy
SieInjeu seansualese) - IO SESNE), i(SeA1}Ia.100 SEPIPall a sesned) gA sop ojuawadwnauy ap sapdenyis sep oesensuane E BANE]aJ Jejuswajdwod oeseuriopu
o 1135 ep BOAO( :sepejosjuod ojusuiarseqe ap SBUO0Z :T V10N
%00T T T %00T 0 20°0> 80°0> (1/31) b epijisag [
%001 I 1 %00T 0 800> | 800> 1/31) € epppsad
%00T T T %007 0 800> | 800> (1/21) 7 epppsag
%00T T T %00T 0 800> 800> :\% Epnsad
%001 T T %00T 0 800> 80°0> (1/21) je303 — sepppsag
%00T T T = 0'L> 0'L> - ('1/2)ourjauwiciopowoiqg
%001 T T 0°L> 0'L> — ‘I/3)ouejswolopipowoag
%00T T 1 = 0'L> 0'L> - (1/3)opusogowoag
%00T T 1 02> 0'L> — {1/3)ojunigjoio
e %00T 0 0's> 04> 001 :(1/2r) |e303 - souerawojeypy
%00T T T 0to'o> | oto'o> — 1/8)ouaid(po-¢'z'T)ouspu
%00T I 1 == S00'0> | S00°0> - (1/31) ouspiad(jyS)ozusg
%00T I T =3 0500°0> | 0s00°0> - j(1/3} ousjuesonyy{y)ozuag
%00T T I 0500'0> | 0500°0> — (1/31) ouaueionyy(q)ozuag
== = %00T 0 S70'0> | Sz0'0> oL'0 :(1/3) soo)ppyjod soapewoiy $S019U0QIe30Ip|H
%00T T T - SI> ST> — (1/3jousiacioppy
%00T T 1 —- ST> ST> — (1/3)ouszeciopena)
== =3 %00T 0 S'T> ST> 0l :(1/81) ouaraosopiay 3 oullaoJopesa)
%00T T T %00T 0 oT> or> 0sz (*os 1/8w) sojey|ng
%00T T T %00T 0 71's s 002 {eN 1/3w) ojpgs
%00T T T %00T 0 01> or> 052 (1D 1/3w) soja.op
| %007 T T %00T 0 9> 9> 0} (35 1/21) ojuzjas
%00T T T %00T 0 9> 9> 02 {IN 1/2v) janbyy
%00T T T %007 0 50> 50> } (3H 1/31) ounass |
%001 I 3 o vZ'z vZ'z — (3w 1/3w) ojsusepy
%00T 1 T %00T 0 01'o> 01'0> gL (4 1/3w) soraionj4
%00T T T %00T 0 0 0 0 (1w 00T/N) s02030103u El
%00T T T 687 69 =i (€00eJ 1/8w) |€303 e23ung
%00T T T %00T 0 6'0> 6'0> 0'¢ (1/2v) ouezsoropip - z'1
%00T I T %00T 0 o> S> 0s (423 1/31) ojwgiy
%00T 1 T %00T 0 €0-300'9 | €0-300'9 0’2 {n2 1/3w) auqor
%00T T 3 %00T 0 0z> 07> 05 (N2 1/31) soyauep)
%00T T I %001 0 L> L> T4 {qd 1/81} oquinyy
%00T T T E €7 €7 — (22 1/3w) opje
%00T T 1 %00T 0 0'T> 0'T> 0's (P2 1/31) oywpey
%00T T T %007 0 s> 5> o] (*049 1/21) sojewoug
%00T T T %00T 0 oT'o> 010> 0'L (9 1/3w) oiog|
%00T 1 T %001 0 05000> | 0s00’0> 0100 {1/21) ouasjd(e)ozuag
%00T T T %00T 0 £0> £0> 0t (1/21) ouazuag|
%00T 3 T %00T 0 o> 5> oL (sv 1/31) ogsiy
3001 T 1 %001 0 > > c {95 1/8") ojuownty
%00T 1 T 5,001 0 0> 01> v (NLN) og3ening
%00T T T %00T 0 > T> 3 (og3iniip ap Joyey) a5z € 1oges
%00T I T %00T 0 T> > € (og3iniIp ap Jo3oey) D557 & 0ajay3
%00T T I %00T 0 0'T> 01> ] (*0 1/3w) apepyqepixg
%007 T 1 %00T 0 so'0> | so'o> S0 (*ON 1/3w) soyyn
%00T I 1 %00T 0 0't> 0'e> 0% {ON 1/3w) soyeaun
%00T T T %001 0 7T T e (uw 1/31) sguedueyy
%00T T 1 %001 0 09> 09> 002 (84 1/} osuay
%001 T 1 %0 T 79 79 659502 (Hd sspeprun} , Hd|
%00T T 1 %00T 0 0e< 0'e> 0z {0014 1/3w) 403
%00T T T %00T 0 0 0 0 (1wooT/N) suabuufiad wniplisoss
%001 T T %001 0 ) 2 Si> 00s¢ (D507 e wa/sr) apepiapnpuoy
%00T T T — 0 0 [ewoue ogdelajje weg (lw/N} 25 L€ e se|ugjo ap osawnpy
%00T 1 T 0 0 [euLioue ogdesslje wag (Iw/N) 35 Z2 e sejugjod ap osawny
%00T T 1 %00T 0 S0°0> 500> 0s'0 (*HN 1/3w) ojupwy
%00T T T %00T 0 oT> o> 20z {iv 1/8) ojuwungy
%00T 4 z - 59°0 L£0 | ~ {1/3w) jenipissJ sjueisjuiseq
%00T € 4 %00T 0 0 0 0 (1w 00T/N) sawi0y)|00 seuaeg
%00T 4 [4 %00T 0 0 0 0 (1w 0OT/N) 102 byya1ay2s3
SEPETIEDY | cepezieay um_uuﬁ.._;w.wm dA op dA mEo_H,u_M:w owpxew | owjuy £007/90€ 1Q ou opexyy
sasjipuy i (sapepiun) onyauwsgiey
% (vD2d) sesieuy 5'N uawudwny Kl sas)puy 5°N SOPRYO S3I0[EA (dA) 03139wesed Jojep
04quIa18s 0§ "(4vsy3) ayuaradwiod apepuojne ejad
e oy|nr 1o opeaoide (yDod) en3y ep apepjjenD ep 0]oJiuo) ap ewesdold o opundas ‘JopjwINsuod op eJjPUI0) EU sed|posad sasjjeue ap saaesje
COC R ISINILGE | TedNand opad ep ends ep apepijenb ep ogdeayuan g 3s-napadod ‘osode ap (7 3p ‘£00Z/90€ 5'U 137-033199Q 0 W03 SPEPIULIOjU0) Wi
o o n — S ow_zmm:mn_ 9p erdew ejues ap ojdidiunpy
5'U IV.LI3 OYINDVYN3d 30 YLYVIN VINVS 30 OHI13DNOD 0d {OLNINIDILSYEY 30 SYNOZ SYN o
€€ 5 ONVIAINH OINNSNOD YYYd YNOY v¥a 3avanvno va 0104.1LNOD I.nla.l.ulu:




£ 07/9 <7

:oedejnqgnd ep ejeq

AN

(Sv ep Jadsaed ap ejougsne) apnes e eied 0dsu Janey kU 4od sepipa
sieinjeu sedisualoeie) - IO

W sepeLo) mw._ov. OEN - IN
*SESNE) . :(SBAI3IB4100 SEPIPAW 3 Sesned) dA sop ojuawidwnoug ap sag3

'SeA}99.1107) Sepipay ‘en3e ap wasduo ep {seai3gj0a80.4piy

BNM{s sep oelendiane e enpjejal JejudWadwod oglew.opl

{ednjeussse s awou) :a3uspisaid (

SOISN[ :SEPej03u0d OjuBWIIRISEqe Bp SBUOZ :T V10N

%001 T T %007 0 800> | 800> 010 (1/Aeulzelngiag
%00T 1 T %00T 0 800> | 800> 010 (1/21) oganuny
%00T T 1 %00T 0 800> | 800> 0,0 (1/3M) oginig
%00T T T %00T ) 800> 80'0> 0L'0 7/31) euizejangiayeseq
%00T T T %00T 0 80°0> 800> 0L'0 (1/21) euzenejaseq
%00T T T %00T 0 800> 80°0> 0L'0 (1/3) eujzeny
%00T T T %001 0 80°0> 80°0> 050 (1/21) |e103 — seppysay
%001 T I -- 0'L> 0'L> - (1/3)ouerawiosojouroiqig
%00T T T e 0'L> o'L> = nﬂgocmumtho_u_uoEEm
%00T T T L - 0't> 0's> — |(1/78r)oinigouiong )
%001 T L y = 0> 0'L> = {1/3")ojw.io)ou0))
0 0'L> 0'L> 00l :(1/31) |ero1 - soueraworeyu;
%00T I 3 — oto‘o> | oto’> ~ "/3)oualid{po-g'z'T)ouapuy
%001 1 T S00°0> | 000> — (7/21) ouajuad{iyS)ozuag
%00T 1 T -~ 0500°0> | 0so00> — 1/21) ousueionyy(y)ozusg
%00T T T - 0500°0> | 0S00°0> — (1/21) ousjueiony{q)ozuag
- = 0 S20'0> | szo'o> 0L'0 #(1/81) s03)|2191104 s0313¢ WY SOIBUCGIEI0IPI
%00T T T -- ST> S'T> - 1/8)ouazaciopu)
%001 1 1 qT> S'T> - |{1/3v)ouayaoiopesa)
= - 0 ST> ST ol :(1/31) ouaraosopii}l @ ouajaciopenaj
%00T T T _ %00T 0 oT> 01> 0se (*0s 1/3w) sozeyng
%00T T T %00T 0 L0°E LO'E 002 (eN 1/3w) ojpos
%00T T T %00T 0 oT> 01> 05z (1D 1/2w) sojaio)y
%001 T T %00T 0 9> 9> 01 (s 1/34) ojupjas
%00T 1 1 %00T 0 9> 9> 0z (IN 3/81) janb)y
%00T T T %00T 0 s> 50> L (BH1/3) opposaif
%007 T T == o o e (3 1/3w) orspusepy|
%00T T 1 %00T 0 01'0> 0T'o> §'l (11/3w) sojaionyy
%001 T T %00T 0 0 0] 0 (1w 00T/N) sod0d0423u3
%001 L 3 — T'LT T'LT - (€02e) 1/3w) |e30r e202nG
%001 T T %00T 0 60> 60> 0'¢ (1/21) oueraoiopip — T
%001 T T %00T 0 G> 5> 05 (4D 1/30) ojwigs)y
%00T T T %00T 0 €0-300'€ | £0-300°€ 0'z {(n2 71/3w) auqoy
%00T 1 T %00T 0 0> 0z> 05 (N2 1/3) sojauery
%00T T I %00T 0 L> L> 14 (a4 1/81) oquinys}
%00T T T 6'€ X3 = (3 1/3w) opje)
%00T T T %00T 0 01> 0'T> 0's (P 1/21) ojwpey
%00T T T %00T 0 s> o> 0l (049 1/31) sojewoug
%00T T T %00T 0 0T’0> or'o> Q'L __(81/3w) oiog
%00T T T %007 0 0500°0> | 0S00°0> 0L0°0 {1/21) ouauid(e)ozuag
%00T T T %00T 0 £'0> £'0> 0l (1/31) ouazuag
%00T T T %00T 0 > > oL (sv 1/3) ojugsiy
%00T T T %001 0 > > 5 (as 1/3r) ojuguinuy
%001 1 i %001 0 0'T> 017> 14 {NLN) ogdeain)
%0071 T T %00T 0 > 1> £ (og3npip ap Jope3) 557 € Joges
%001 I T %00T 0 1> 1> £ (og3inyip ap Jope]) J557 € 0aj3Yy)
%00T T T %001 0 01> 017> S (‘0 1/3w) apepyiqepixo
%007 T T 0 50'0> 500> g'0 (*ON 1/3w) sounn
%00T 1 T %001 0 0'e> 0> 0s (ON 1/3w) sojen)N
%00T I 1 %00T 0 0'e> 0'z> 0s (uw 1/21) spueSuey
%00T T T 0 09> 09> 002 (94 1/3) ouuay
%001 T T %00T 0 89 8'9 659 6'gz +(Hd sepepjun) Hd
%00T T ( %00T 0 0e< 0'e> 0T (031d 1/3w) 103
%00T T T 0 0 0 0 (1IW00T/N) suabuufiad wnippisols
%00T T I %00T 0 s> Si> 0052 {2502 e w3/srl) apepianpuoy
%00T T T == - 0 0 [ewIouR ogdelaye wag {lw/N} 2z L€ € sejugjoa ap osawiny
%00T T T 0 0 jeuwloue ogdeia)e wag (Iw/N) 25 ZZ & sejup|od ap oJawny
%001 T 1 %001 0 s0'0> | so'o> 05'0 (*HN 1/3w) ojuguy
%001 I T 0 01 01 00Z {1v 1/3) ompanyy
%007 z [4 66'0 68°0 = (1/8ui} fenpisas juesjuissq
%00T 4 z %00T 0 0 0 0 (U 00T/N) sautioyj0d seuzpeg
%00T fa z %00T 0 0 0 0 (1w 00T/N) 00 ojydtiaydsy,
nﬂﬂihu sl a0 ) gAp piA saiouadns) | SO | QLI 4002 /90E 19 S opeyy (sapepiun) onaweleqd
% (VOOd) sesiiguy gy [PUoWHdwng 5 sasiipuy o'N $SOPIIQO SAI0[EA (dA) o3urpwieseg Jojep
04quWI313S OE "(¥vsy3) ajusiadwon apepuoine eppd
e oy|nr 1o opeaocide (vDod) en8y ep apepjjen)d ep ojo13uo) ap ewesSold 0 opunBas ‘Jopjunsucd op e4j@UI0] BU sedipolad sasijeue ap saaene
ET0Z JULSINIYL 5€E ‘eatiqnd apa. ep en3e ep apepjjenb ep OgIeIYLIaA k¢ 3s-napadosd ‘03s08e ap /7 ap _N%Qwom\a.w 197-013.03q 0 W03 apepjutiojuod w3
e e P S SRR B ORI € 95-N9P820. OgINBEiing 5p myteyy o I
. OYINDVYN3d 30 VIYVIN VINVS 3 OHTIINOD O ,OLNINIDILSYEY 30 SYNOZ SYN T
ItEs'uTviLial ONVIAINH OINNSNOD Ydvd YNSY va 3avanvnd vd O104LNOD I.....an




}(SeARO3.4100 sepipaw 3 sesnes) gp sop ojuawipdwnoul ap sagienys sep ogsendiiane € eAfjejal Jejuawajdwod ogdeuriogu

E1191p3d :Sepejo.luod ojuawdalseqe ap SBUOZ :T V10N

€T0Z JYLISTNIYUL €

it

‘ea)iqnd apaJ ep end

HEE 5°U TVlIa3

P SPEPIIEND = OE3®UIRA § 95 nopo301d ‘03508 2p 17 9P ‘L00Z/90E 5'U 1910121220 © 103 IPEP|LIO}U0D w3

T I %00T 0 800> 80°0> J/2yeuizeinngiay
1 T %001 0 800> | 800> _|6/3n) oganuy
T T %007 0 800> | 800> _|(i72) oganig
T T %001 0 800> | 800> (1/21) euizeangannesag
T I %00T 0 800> 800> (1/31) eujzenejnasag
T T %00T 0 800> | 800> [(1/37) euzeny
T T %00T 0 80°0> 80°0> (1/#1) je103 —seppnsag
T T o 0'L> 0't> — (1/3)ouejauiolopoworgig
T T 0'L> 0'L> - |(#/#)ouerswoioppowoag
1 1 0'L> Q'L> — |(1/Er)opuigjouwiorg
T I = 0'L> 0> — [(3/#)oiisopoio)y
g = 0 0'L> o'l> 00l :(1/21) jejo3 - souejawojeys|
%001 T T = 010'0> | ot0%0> — [(1/3vijouasdipa-gZ2 T)ouspu
%00T 1 I = S00°0> | so0'0> - [(1/3) ousjuad{iyE)ozuzg
%00T T T - 0500°'0> | 0500°0> — “[(1/3x) ouszueiony(y)ozuag
%001 T T - 0500°0> | 0S00°0> — (1/#1) ouajuesony{q)ozusg
. < 0 S20°0> | szo'o> 0L'0 “(1/21) s021133)j0d so2RgWIEIY SoIeUCGIEIOIPIH
%00T T 3 = ST> ST> — [(h/3)ousraciopiy
%00T ﬁ T - SI> ST> - 7/#)ouaraoiopena)
i Bk 0 ST> SI> oL :(1/211) ouayaoioppy 2 oudlaoiopena
%00T T T %00T 0 L9 /9 052 (*0s 1/3w) sojeying
%001 T 1 %00T 0 9v'E 9t'E 00Z (eN 1/3w) oipos
%00T T T %00T 0 oT> or> 052 (12 1/3w) soz04
%007 T T %007 0 9> 9> or (25 1/21) owipiag
%00T T T 00T 0 9> 9> (074 (IN 71/21) j]onbyN
%001 T T %00T 0 $0> S'0> L (31 1/3) opmorayy
%001 I T 5 TLE TL'E - (3 1/3w) oyspulepy
%00t I T %00T 0 Z1'0 (4 %1] Gl (4 1/3w) sojas0ny
%00T I T %00T 0 0 0 0 (1w 001/N) s02020133u3]
%00T T T = 44 (4 - (€02e3 1/3w) 303 ez01ng
%00T T T %00T 0 60> 6°0> 0'e (1/31) ouezacuopip — 7't
%00T T T %00T 0 6> &> 0§ (42 1/30) ojwou
%00T I I %00T 0 70-306'C | Z0-306'C 0'Z (n37/2w) a1q05
%00T T T %001 0 0z> 0Z> 0s (ND 1/8M) sojauer;
%00T T I %00T 0 L> L> sz (q9d 1/21) oquinyy
%00T T 1 = 6'9v 6'97 (e31/3w) opjey
%00T I T | oot 0 07> 0'T> 0's (P2 1/27) opuper
%00T I T %00T 0 S> 5> 0L (f049 1/} sorewoug
%00T T T %00T 0 oT'o> ot'o> 0't (9 1/3w) csog
%00T T T %00T 0 0S00°0> | 0S00°0> 010'0 (1/31) ouasjd({e)ozuag
%00T F T %007 0 £0> £0> o'} (1/3) ouazuag
%00T L T %00T 0 5> 6> 0l (sw 1/21) ojugsay
%00T T T %00T 0 > > g (s 1/21) olwowpuy]
%00T T T %00T 0 77 4 v {n.in) ogieany’
%00T T T %001 0 ] z £ (ogdin|ip ap so030e4) 3557 € Joqes
%00T T T %00T 0 Z z £ (ogdinjip ap s032e4) 2552 © osjayy
%00T 1 T %00% 0 oT> 01> g (*0 1/3w) apepyjiqepixg
%00T 1 T 0 so'0> | so'o> 50 {"ON 1/8w) soyyN
%00T 1 T { %00T 0 ¥'91 ¥'9T 0s {fON 1/3w) sozesy N
%00T T 1 %00T 0 0'z> 07> 05 {uw 1/31) sgueduepy
%00T T T 0 Z0+300°T | Z0+300°T 002 +(34 1/21) ousay
%00T T T %00T 0 69 69 6598 G'02 (Hd sapepjun) yd
%007 T T %001 0 0'E< 0'e> o0z (0234 1/8w) 103
%007 T T 0 0 ) 0 (IM00T/N) suabupfiad winjpissors
%001 I T %001 0 €LE €LE 0052 (3507 e wa/sMl) apepjannpuoy
%00T T T 0 0 [ewloue opdesa)e wag (IW/N) 5 L€ ® sejugjod ap oJawiny
%00T 1 1 - = 0 0 [eulioue ogdessje wag {1W/N) 25 Zz e sejup|03 ap oseswny
%001 T T %00T 0 50°0> S00> 0$'0 {"HN 7/8w) ojuguiy
1 T 0 0z 0z 002 (v 7/21) opiiwnjy
—
%00T z z = 06'0 88°0 = (1/3w) jenpisas aquelayuisaq
%00T z z %00T 0 0 0 0 (1w 00T/N) sawLi0y00 seligideg
%001 z 7 %007 0 0 0 0 {(Jw 00T /N 1102 DjyoIayas3
n””“_ﬂ_““u_ sepezjjeay | sepepuady dA op dA sedojadng | CWIXEA | owjujy L00Z/90€ 10 ou opexy (sapepjun) onsweey
% (vDOd) sesyipuy a'n  [UAUMdWIN sl sssipuy o'N [T Sooteo Slolen | (dA) eatiipweleq sojep
04quiales pg ‘(4vSY3) siusieduwios apeplioine ejod
e oy|nr o openoide (yDd) enfy ep apep|jenp ep ojosjuo) ap ewe.do1d 0 opunBas ‘J0pIUINSUO) Op BJBULO] BU sedipolad sasjjpue ap spaese

OYINDVYN3d 30 V14V VINYS 3a OHTIONOD Od ;OININIDILSYEVY 30 SYNOZ SYN

ONVINNH OANSNOD YdVYd YN9Y YA 3avanvnd va O10Y1NOD

ogindeuad sp eme eyues ap oidipiuny

i
ognfizuad ap epew Bjues

il




siez/ of <2
:oeseydiqnd ep ejeq (eanmeuisse & awou) :ajuapisald o

0JqIBITS OF ‘(8vsH3) 2uasaduwio apepuoine ejad
e oy|nr o - opeaolide (yD2d) en8y ep apepjjenD ep 0]0J3uc) ap eweiSoid o opundss “Jopjuinsuod op eljeusoy eu sedjpoliad sasijeue ap spaesze

SOE AN AL oE | 'eRliand ope) ep ende ep apepiienb ep ogedyian ¢ 2s-napedoid ‘01sode ap £z 9P ‘L00Z/90€ 5’y 11-0194290 © W3 BpEpUIOIOD W3

oeingeuad ap eye e ap oidmun
HEE 5V TV.LIa3 OVIN9VNId 3a VLIV YLINVYS 3d OH1IDINOD 0a 1OLNINIDALSYEY 3A SYNOZ SYN - "9 BN s v,cﬁ.,mmﬂ.u._uu_ | e
= ONVINNH OINNSNOD YiVYd VNOY vad 3avanvnod vad O10YLNOD Ilul......ullu




